BEANRE WEESBKEREERE
# s - ikt B 2 1 & 8 wOE
ERIEE 19, 058, 641
(& ER] 13,327, 837
KEBEE., BEENMAEES 13,327, 837
KERE 3,524,924
FEER 557, 649
1 B 1.00 306, 030 306, 030
%
2 BB QEELY) 3.00 83, 873 251,619
%
KERE IWEEK :5t.1,2,4,6,D, 2,3, d,® 1,829.177
38K (1) WEBX : BHSL.1,2,6 28 6.00 74,676 448, 056
45
43K (2) WEBK : BRSt.4 (2F) 2.00 27, 484 54,968
45
5 8K (3) WESBR : #540,0.0,@,6 GE) 10. 00 91,910 919, 100
45
6 SEER 1.00 407, 053 407, 053
%
S OKERE) IWEEK :5t.1,2,4,6,D, 2,3, d,® 861, 540
1 SHEB KERE) 1.00 861, 540 861, 540
%
WEEZEH KERAE) 276, 558
8 MEZMER KEHRE) 1.00 276, 558 276, 558
=
EERE 1,273, 081
EBHRE WEEK :5t.1,2,4,6D, 2,3, d,® 603, 621




BEANRE WeE2BKEEERE

9 &R (1) ILBAR : #51St.1,2,6 3.00 67,777 203,331
=
10 i€ (2) WEBRK : BHSt. 4 1.00 38, 040 38,040
=
1" Fik (3) WEER : #540,0.0,.@,6 10. 00 36, 225 362, 250
=
S (EERE) WEEK :5t.1,2,4,6,D, 2,3, d,® 443, 200
12 iR (EEHAE) 1.00 443, 200 443, 200
Ex
WMEEER (EERE) 226, 260
13 BEERR (EERE) 1.00 226, 260 226, 260
Ex
E4+4EMREE 318, 560
SR (EEEWRE) IE#ERX :St.1,2,4,6 104, 000
14 SH&B (BEEMRE) 1.00 104, 000 104, 000
=®
Rt - 2R (EEEMAE) 214, 560
15 i - 28 (EEEVHRE) 1.00 214, 560 214, 560
=®
E3CEE 3,549, 308
BISHRE IE#ER : St. 12,13 3,233, 448
16 EHRE WEER : BHSL. 12,13 254 >) 36. 00 89,818 3,233, 448
=
SR CRIGHRAE) IE#ER : St. 12,13 100, 000
17 #ise (BEHHAE) 1.00 100, 000 100, 000
=®
a2t - B (BEBRAE) 215, 860
18 47 - 28 (EBAD) 1.00 215, 860 215, 860
=®




HEEWERE WEESBKEEERE

HEHEMRE 1,677,439
HEHERE e #EK - St.7,8,9,10, 11 494, 159
19 FEHEMHEE (1) IEER : #&5St. 7,9, 11 3.00 125, 745 377, 235

th =
20 BT EMAE (2) W& ERX : ERNSt. 8,10 2.00 58, 462 116, 924

th =
SR (HMTEMAET) l&#EK - St.7,8,9,10, 11 750, 000
21 o (BMTEMREE) 1.00 750, 000 750, 000

=
B - B (HMHEEYHEE) 433, 280
22 & - ER (GHEHEYRE) 1.00 433, 280 433, 280

=
EEZE 2,984,525
ZeE RLERMRK 2,909, 725
23 REER/M (1) W& BEREN 1.00 2,826, 233 2,826, 233

=
24 ZEERM (2) LEBEXER 1.00 83, 492 83, 492

=
ZDfh 74,800
25 I ERERE 1.00 74, 800 74, 800

=
[B&ERX] 5,730, 804
KEFRE., BREEYMAETER 5, 730, 804
KERE 3,381, 242
REERE 349, 314
26 BEAERE CEBESRY) 3.00 116, 438 349, 314




HEEWERE WEESBKEEERE

KERE AR :St.1,2,3,4,5,6,7 1.114, 872

27 K (1) —1 EHER : BASt | .00 25,212 75, 636
th =

28 K (1) —2 EHER : BRSL.3 .00 29,702 89.106
th =

29 K (2) — 1 RBBR - BSt 2,4 .00 61,174 367,044
th =

30 K (2) —2 BHBK : B5L.5,6,7 .00 51, 865 466, 785
=

31 HAFHER .00 116, 301 116, 301
=

S OKERE) 1, 600, 260

32 iR OKBEIRAE) .00 1,600, 260 1, 600, 260
=

WESER KEHRE) 316, 796

33 |MEEEKR KEHRHE) .00 316, 796 316, 796
=®

EERE 1,050, 576

EERE A&EHERKX . St.2,4,8 178, 040

34 ]iE (1) BEERX  BEHNSt. 2.4 00 35, 608 71,216
th =

35 B (2) REERXK - #45t.2,4,8 .00 35, 608 106, 824
th =

ot (EERAE) A&EHERKX St.2,4,8 671, 950

36 NI (EBRAE) .00 671,950 671, 950
=®

WESER (EEHE) 200, 586

37 MEEEK (EEHE) .00 200, 586 200, 586
=

142,

686




HEEWERE WEESBKEEERE
TS5 FURE AEERKX St.2,4 219,036
38 T b URAEREER BEERX BNt 2,4 4.00 54. 759 219, 036
th =

SFEREE (T30 FUAE) AEERKX St.2,4 252, 000
39 HEHER (TS50 FUBRE) 1.00 252,000 252, 000

=
@i - FE (TS50 FUBRE) 271, 650
40 fEHT - B (TS50 FURE) 1.00 271, 650 271, 650

=
Wi - |E 396, 300
Wi - |E 396, 300
41 ERE 1.00 109, 800 109, 800

[
42 hifsRes 1.00 109, 800 109, 800

[
43 RR®|E 1.00 176, 700 176, 700

[
EEZE 160, 000
BR 160, 000
44 XBR R 1.00 160, 000 160, 000




WEEEEKEEARE

% g - AKTiE Bifr = fiff & #B
EEUER 16, 506, 791
HER 11,723,841 x 65.1% — 9,011 7,623,209
BIBELE 16,506, 791 + 7, 623, 209 24,130, 000
B IR 2,529,400 + 22,450 2,551, 850
EEAGE 2,529, 400
EEEE 22,450
T DAt 2,529,400 x 53.85% ( 35% =+ (1 — 35% ) ) 1,362, 081
EHRIE 2,551,850 + 1,362, 081 3,913,931
—REBRES 3,913,031 x 53.85% (35% + (1 — 35%) ) — 1,582 2,106,069
ABREE 3,913,931 + 2,106, 069 6, 020, 000
AR AR 24,130,000 + 6,020, 000 30, 150, 000
HBETEALE 30,150,000 x 10.00% 3,015,000
REXHE 30,150,000 + 3,015,000 33,165, 000




WEEEEKEEARE

% g - AKTiE Bifr = fiff & #B
EEUER 16, 506, 791
HER 11,723,841 x 65.1% — 9,011 7,623,209
BIBELE 16,506, 791 + 7, 623, 209 24,130, 000
B IR 2,529,400 + 22,450 2,551, 850
EEAGE 2,529, 400
EEEE 22,450
T DAt 2,529,400 x 53.85% ( 35% =+ (1 — 35% ) ) 1,362, 081
EHRIE 2,551,850 + 1,362, 081 3,913,931
—REBRES 3,913,031 x 53.85% (35% + (1 — 35%) ) — 1,582 2,106,069
ABREE 3,913,931 + 2,106, 069 6, 020, 000
AR AR 24,130,000 + 6,020, 000 30, 150, 000
HBETEALE 30,150,000 x 10.00% 3,015,000
REXHE 30,150,000 + 3,015,000 33,165, 000




Rifiz -/ \v7r—o

WREEHKEEERE

&5 1
2 . AEER =1
£ 7 R - BIRTE BARL #H = B Of | W E B &
BlEFEHED
A 3.00 48, 000. 00 144,000
B S HER
A 3.00 42, 200. 00 126, 600
B = H AR
A 1.00 32, 400. 00 32,400
AR =L NOY
% 1.00 303, 000. 00 3,030
= 5 1E%HeH - 1.00K 306, 030. 00 306, 030
&5 :2
B BMERR QEESZY) =1
£ 7 R - BIRTiE BAGL #H = B Of o W E B =
BIEHEE
A 2.00 25, 400. 00 50, 800
Sy 2tiE
B 1.00 32, 243. 00 32,243/4.70H / 8H
AR =L NOY
% 1.00 83, 043. 00 830
= 5 1E%HeH - 1.00K 83, 873. 00 83, 873




e - o L/ S ’r —2 WAEEEKEEEAE

%5 :3
B K (1) (LEHBRX: E4St.1,2,6 2/ 1AHY (3. 2#hm)
£ 7 R - KT By B = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PSZE! 3.0t
H 1.00 96, 530. 00 96, 530 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31, 100. 00 62, 200
AR L NOY
% 1.00 236, 600. 00 2, 366
& it {EZBER : 3. 20t 74, 676. 00 238, 966
&5 4
&K (2) (LEER: BRSt. 4 28) 1AHY (7.9t )
£ 7 R - KT By B = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PSZE! 3.0t
H 1.00 74,911.00 74,911 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31, 100. 00 62, 200
AR L NOY
% 1.00 214, 981. 00 2,149
& B {EZEBERN - 7. 90t = 217, 484. 00 217,130




Rifiz -/ \v7r—o

55
fFF : HRK (3)

WEEX : BEND,0.8.@.& GE)

WREEHKEEERE

1A&Y (2.641:3)

£ 7 R - KT By = B Of | W E B &
TEE S4 kY 2L
H 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PSZE! 3.0t
H 1.00 96, 530. 00 96, 530 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31, 100. 00 62, 200
AR L NOY
% 1.00 236, 600. 00 2, 366
& B {EZEBER : 2. 60t = 91,910. 00 238, 966
&S :6
27 ARERR 1LY
£ 7 R - KT By = B Of | W E B &
B = H AR
A 10. 50 32, 400. 00 340, 200
TEE S4 kY 2L
=] 10. 50 6, 367. 00 66, 853 6. 00H / 8H
& B EZBER - 1.00= 407, 053. 00 407, 053




RifiF-ET/ 75— WEEEBEKEEERE
B&S:7
B DR OKERE) 1LY
£ 5 R - AR R B {5 = i & 4 # &

BAE

ik 46.00 420. 00 19, 320
IKFA # 2R (pH)

ik 16.00 570. 00 9,120
{EZMIEERZ R = (COD Mn)

ik 16.00 2, 750. 00 44, 000
FiEEE (SS)

ik 46.00 1, 900. 00 87, 400
BEESRE (D0)

ik 46.00 1, 950. 00 89, 700
KGE B

ik 16.00 3, 300. 00 52, 800
n—AFHUMHYME

ik 8.00 3, 700. 00 29, 600
0074 )ba

ik 16.00 5, 300. 00 84, 800
JxXT4Fa

ik 16.00 5, 000. 00 80, 000
7 UE=7HZEZHR (N\HA-N)

ik 16.00 2, 950. 00 47, 200
FEEHERTEEE SR (NO2-N)

ik 16.00 3, 050. 00 48, 800
FHERTEZE 3 (NO3-N)

ik 16.00 3, 050. 00 48, 800
2E%H (TN

ik 16.00 7, 800. 00 124, 800
1) UEgtE) > (PO4-P)

ik 16.00 2,900. 00 46, 400
£1) > (T-P)

ik 16.00 3, 050. 00 48, 800
& it E%82H : 1.00=% 861, 540. 00 861, 540




Rifiz -/ \v7r—o

WREEHKEEERE

%5 :8
B MEEER OKEHRAE) 1ty
£ 7 R - KT By = B Of | W E B &
FEHED (55
A 0.60 58, 600. 00 35, 160
e (B)
A 2.60 41, 600. 00 108, 160
Hftt 8
A 4.50 29, 000. 00 130, 500
EHARE FHEEDY
% 1.00 2173, 820. 00 2,738
= it 1E%HeH - 1.00K 2176, 558. 00 276, 558
59
& RE (1) {LEBRK : #5St.1,2,6 1BHY 4. T#hs)
£ 7 R - KT By = B Of o W E B =
TEE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
SRAE M FRP D 70PSZ! 3.0t
B 1.00 96, 530. 00 96, 530 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
B (FA3\—) 10mEL £ 20mR 55
A 1.00 53, 100. 00 53, 100
BKTHEE (A4 /1\—) 10mLL £ 20mk 5
A 1.00 53, 100. 00 53, 100
rtEyg
A 1.00 34, 800. 00 34, 800
AR L NOY
% 1.00 315, 400. 00 3, 154
= 5 1EXHED 4. 7005 67,7717.00 318, 554




RifiF-ET/ 75— WEEEBEKEEERE
H5:10
2 BRE (2)  WAHEK : EHSt.4 1B4Y (7. 8#h)
% # 1A - Pkt Bify g B # = ]
RIBE 54 kXY 2L
=] 1.00 3,270.00 3,270/2.00H / 8H
FER FRP D 70PS%E! 3.0t
=] 1.00 74,911. 00 74,911 8H
3B B
A 1.00 42, 200. 00 42,200
3B E A
A 1.00 32, 400. 00 32, 400
BAKE (A 13—) 10mEL_E20mK i3
A 1.00 53, 100. 00 53,100
BKTHBE (1 /3—) 10mi2A £ 20msk i
A 1.00 53, 100. 00 53,100
tmyg
A 1.00 34, 800. 00 34, 800
HFE 2R0%
% 1.00 293, 781.00 2,937
a & EXBED - 7.8041 3 38, 040. 00 296,718
&H#5: 11
2% R (3) WEEK: #50,2.0,@,6 IEERRC-))
% # 1A - Pkt Bify g B # m = ]
RIBE 54 kXY 2L
=] 1.00 3,270. 00 3,270/2.00H / 8H
FER FRP D 70PS%E! 3.0t
=] 1.00 96, 530. 00 96, 530 8H
3B B
A 1.00 42, 200. 00 42,200
3B B A
A 1.00 32, 400. 00 32, 400
BAKE (A /13—) 20miL £ 30mk i
A 1.00 56, 800. 00 56, 800
BKTHBE (1 /3—) 20miA £ 30m3ke %
A 1.00 56, 800. 00 56, 800
tmyg
A 1.00 34, 800. 00 34, 800
HFE 2ED%
% 1.00 322, 800. 00 3,228
a & E%XBED - 9. 004 = 36, 225. 00 326, 028




Rifiz -/ \v7r—o

WREEHKEEERE

H5 :12
ZF : SR (EEAE) 1RXHY
% 5 R - AR R BAf = fii £ # &
HIEHE AL EEEHR
B®IK 14.00 8, 700. 00 121, 800
B SREHR
B®IK 4.00 2,250.00 9, 000
{LZHIEERZ R = (COD) EEEHR
B®IK 4.00 3, 650. 00 14, 600
BEEE (IL) EEEHR
B®IK 4.00 2, 750.00 11, 000
S EEEHR
B®IK 4.00 1, 600. 00 6, 400
B4 1L Z T E AL (ORP) EEEHR
B®IK 14.00 1, 400. 00 19, 600
Bt (T-S) EEEHR
B®IK 4.00 3, 800. 00 15, 200
2E%H (TN EEEHR
B®IK 4.00 4, 750. 00 19, 000
1) (T-P) EEEHR
B®IK 4.00 4,150.00 16, 600
Rk - 2% - HE (CNS)
B®IK 10. 00 21,000. 00 210, 000
= it 1E%HeRH 1,00 443, 200. 00 443, 200
H5 13
2% |ESER (EERAE) 1%y
% 5 R - AR R BAf = fii £ & &
FAEHED GRED
A 0. 60 58, 600. 00 35, 160
HER (B)
A 2.10 41, 600. 00 87, 360
Hifr g
A 3.50 29, 000. 00 101, 500
EXRARE FEEDY
% 1.00 224,020. 00 2,240
= 5 1YE%HeH - 1.00K 226, 260. 00 226, 260




KT -FEIT/ SNV —2 WEEEBKEREERE
H5: 14
B EER (EEEYRE) 1LY
£ 7 R - KT By = B Of | W E B &
S HTERER EEEY
B®IK 4.00 26, 000. 00 104, 000
= it 1E%HeH - 1.00K 104, 000. 00 104, 000
5 :15
25 BT - ER (BEEEYHREE) XLy
£ 7 R - KT By = B Of o W E B =
fEf - ER(EEEYRAE) EEAGE
= 1.00 212,000. 00 212,000
fEf - ER(EEEYRE) EERE
= 1.00 2, 560. 00 2,560
= it 1YE%HeH - 1.00K 214, 560. 00 214, 560
H5: 16
& BIBIAE WEER : EHSt 12,13 23514 Y) 1A%HY (3. 54hm)
£ 7 R - KT By = B Of | W E B =
REE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
SRAEM FRP D 70PS%! 3.0t
B 1.00 96, 530. 00 96, 530 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BKE(FA1—) 10mk 578
A 1.00 49, 500. 00 49,500
BKTHEE (A4 /1\—) 10mK &
A 1.00 49, 500. 00 49,500
rtmEyg
A 1.00 34, 800. 00 34, 800
AR =L NOY
% 2.00 308, 200. 00 6, 164
= 5 1E%HESH : 3. 505 89, 818. 00 314, 364




KT -FEIT/ SNV —2 WEEEBKEREERE
&H5 17
B PER GEFRE) 1564y
£ 7 R - KT By = B Of | W E B &
S HTERER BIBEY GRS
B®IK 2.00 25, 000. 00 50, 000
S HTEAER BIBEY @)
B®IK 2.00 25, 000. 00 50, 000
= it 1YE%HeH - 1.00K 100, 000. 00 100, 000
5 :18
ZF ;BT - BR (GRIBIE) 1LY
£ 7 R - KT By = B Of | W E B =
24 - EREHHAT) EEANGE
= 1.00 213, 000. 00 213,000
2 - EREHHAT) EERE
= 1.00 2, 860. 00 2,860
= it 1YE%HeH - 1.00K 215, 860. 00 215, 860
H5:19
&% BEmEYHREE (1) WEER : #E5St.7,9, 11 1AHY (2. 54hm)
£ 7 R - KT By = B Of | W E B =
REE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
SRAEM FRP D 70PSZ%! 3.0t
B 1.00 96, 530. 00 96, 530 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BKE(FA1\—) 10mk 578
A 1.00 49, 500. 00 49,500
BKTHEE (A4 /1\—) 10mK &
A 1.00 49, 500. 00 49,500
rtmEyg
A 1.00 34, 800. 00 34, 800
AR =L NOY
% 2.00 308, 200. 00 6, 164
= 5 1YE%HESH : 2. 505 125, 745.00 314, 364




Rifiz -/ \v7r—o

&H5:2

2% BEFEEYRE (2) WEERX : RSt 8, 10

WREEHKEEERE

1B8Y G#R)

%4 7 R - BIRTE BARL 2 B i | W E B &
REE S4 kY 2L
B 1.00 3,270.00 3,270/2.00H / 8H
SRAEM FRP D 70PS#E! 3.0t
B 1.00 74,911.00 74,911 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
B (FA3—) 10mk 5%
A 1.00 49, 500. 00 49,500
BKTHEE (A4 /1\—) 10mR 78
A 1.00 49, 500. 00 49,500
r\EYE
A 1.00 34, 800. 00 34, 800
AR 2RD%
% 2.00 286, 581. 00 5, 7131
= 5 1YEZHESN 5. 00K 58, 462. 00 292,312
&H5: 21
2 SHER (BMHTEYMREE) XLy
% 7 R - BIRTiE BAGL 2 B i | W E B =
S HTERER HETEEY (3
B®IK 15.00 25,000. 00 375, 000
S HTERER BETEY (EY)
B®IK 15.00 25,000. 00 375, 000
= it 1E%HeH - 1.00K 750, 000. 00 750, 000
522
B BT - BR (BMETEYREE) XLy
% E7 R - BIRTiE BAGL 2 B i o W E B =
247 - ER (BT EDAE) EEAGE
= 1.00 429, 000. 00 429, 000
247 - ER (HMTEDAE) EERE
= 1.00 4,280.00 4,280
= it 1E%HeH - 1.00K 433, 280. 00 433, 280

10




Rifiz -/ \v7r—o

WREEHKEEERE

H5:23
& REBER/RMK (1)  (WEEREN 1LY
2 Lo R - KT By = B ff | W E H %
REERM FRP D 260PSZ!
A 13.20 212, 202.00 2,801,066 6.00H / 8H
I FRVHF % fi [E PR VHF 453
=] 13.20 841.50 11,107
Mo 2RD%
% 0.50 2,812,173.00 14, 060
& B EZBER - 1.00= 2,826, 233.00 2,826, 233
HF5:24
&% BREESRK (2) WUWEBERERA 1LY
2 Lo R - KT By = B ff | W E H %
REERM FRP D 260PSZ!
=] 0.50 165, 538. 00 82,769 6.00H / 8H
I FRVHF % fi [E FRVHF 453
=] 0.50 617.10 308
Mo 2RD%
% 0.50 83,077.00 415
& B EZBER - 1.00 83,492.00 83,492
H5:25
&2 BIERERE 1LY
2 Lo R - KT By = B ff o W E w %
TR YUTRE
T 2.00 37, 400. 00 74, 800
& it EZBER - 1.00= 74, 800. 00 74, 800

11




Rifiz -/ \v7r—o

WREEHKEEERE

H5:26
B BMERR QEESZY) 1Ky
2 Lo R - KT By = B ff | W E H %
BIEHEE
A 2.00 25, 400. 00 50, 800
vy 2tiE
=] 2.00 32,243.00 64,486 4.70H / 8H
Mo 2RD%
% 1.00 115, 286. 00 1,152
& B EZBER - 1.00= 116, 438. 00 116, 438
&H5 : 2]
W FEK (1) —1 FAEERX . EASt.1 1B&HY (8. 61#11)
2 Lo R - KT By = B ff | W E H %
REBE 54 kY 2
=] 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PS%! 3.0t
=] 1.00 74,612.00 74,612 8H
B S HER
A 1.00 42, 200. 00 42, 200
B = H AR
A 1.00 32, 400. 00 32, 400
BIEBNF
A 2.00 31, 100. 00 62, 200
MM 2RD%
% 1.00 214, 682. 00 2,146
& B {EZBES : 8.60th = 25,212.00 216, 828

12




il T/ S — WAESSKEERAS
&H5:28
W FEK (1) —2 FAEHEERX: EASL.3 1BHEY (7.3#m)
2 Lo R - KT By = B ff | W E H %
REBE 54 kY 2
A 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PS%! 3.0t
=] 1.00 74,612.00 74,612 8H
B S HER
A 1.00 42, 200. 00 42, 200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31,100. 00 62, 200
Mo 2RD%
% 1.00 214, 682. 00 2,146
& it {EZEBERN : 7.30th 29, 702. 00 216, 828
H5:29
B EK (2) —1 BHEBRX : HHSt. 2,4 1B3Y (3.9#15)
2 Lo R - KT By = B ff | W E H %
REBE 54 kY 2
=] 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PS%! 3.0t
=] 1.00 96, 147.00 96, 147 8H
B S HER
A 1.00 42, 200. 00 42, 200
B = H AR
A 1.00 32, 400. 00 32, 400
BIEBNF
A 2.00 31,100. 00 62, 200
MM 2RD%
% 1.00 236, 217.00 2,362
& B {EZBEA - 3. 90t s 61,174.00 238, 579

13




Rifiz -/ \v7r—o

&HE5:30

™K (2) —2 BEHERX : EHSL.5,6,7

WREEHKEEERE

1H&Y (4.641:3)

£ 7 R - KT By = B Of | W E B &
TEE S4 kY 2L
H 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PS%! 3.0t
H 1.00 96, 147.00 96, 147 8H
B S HER
A 1.00 42, 200. 00 42, 200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31, 100. 00 62, 200
AR L NOY
% 1.00 236, 217.00 2,362
& B {EZBES : 4.60th 51, 865. 00 238,579
&E#S : 31
275 - EHER T
£ 7 R - KT By = B Of | W E B &
B = H AR
A 3.00 32, 400. 00 97, 200
TEE S4 kY 2L
H 3.00 6, 367.00 19,101 6.00H / 8H
& B EZBER - 1.00= 116, 301. 00 116, 301
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RifiF-ET/ 75— WEEEBEKEEERE
H5:32
25 SR OKERAE) 1RXHY
% 5 R - AR R BAf = £ W = B &

BAE

B®IK 21.00 420. 00 8, 820
KFA 7 VRE (pH)

B®IK 42.00 570. 00 23, 940
{EZMIEERZ R = (COD Mn)

B®IK 42.00 , 750. 00 115, 500
L2 RIEERZ R = (COD OH)

B®IK 9.00 ,600. 00 23,400
FiEEE (SS)

B®IK 42.00 ,900. 00 79, 800
BEE%RE (D0)

B®IK 42.00 ,950. 00 81,900
KGE B

B®IK 42.00 ,300. 00 138, 600
n—~FYUmHYmE

B®IK 42.00 , 700. 00 155, 400
2E%H(T-N)

B®IK 42.00 ,800. 00 327, 600
£1) > (T-P)

B®IK 42.00 ,050. 00 128, 100
Fn (Zn)

B®IK 42.00 ,100. 00 130, 200
1) UEgtE) > (PO4-P)

B®IK 9.00 ,900. 00 26, 100
0074 )ba

B®IK 9.00 ,300. 00 47,700
FHERTEZE 3 (NO3-N)

B®IK 9.00 ,050. 00 217,450
FEEHERTEEE SR (NO2-N)

B®IK 9.00 ,050. 00 217,450
7 UE =7 HEFR (NHA-N)

B®IK 9.00 ,950. 00 26, 550
BBiER BREBEAXHFULN)

B®IK 9.00 ,250. 00 20, 250
BibkE

B®IK 9.00 ,000. 00 36, 000
R (Cu)

B®IK 9.00 ,100. 00 27,900
FILZ =9 L (Al

B®IK 9.00 ,100. 00 27,900
<A (Mn)

B®IK 9.00 ,200. 00 28, 800
£ (Fe)

B®IK 9.00 ,200. 00 28, 800
feA A 2 REEHEH

B®IK 9.00 ,500. 00 31,500
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Rifiz -/ \v7r—o

WREEHKEEERE

%4 7 R - AR R BAf = B i £ W = B &
Jx/—ILEE
ik 9.00 3, 400. 00 30, 600
& it E%82H : 1.00=% 1, 600, 260. 00 1, 600, 260
&5 :33
2% |ESMER OKERAE) XLy
% E7 R - AR R BAf = B i £ W = B =
FAEHED GRED
A 0. 60 58, 600. 00 35, 160
HEm (B)
A 3.00 41, 600. 00 124, 800
Hifr g
A 5.30 29, 000. 00 153, 700
EXRARE FHEEDY
% 1.00 313, 660. 00 3,136
& it E%82H : 1.00=% 316, 796. 00 316, 796
H5:34
A% BRE (1) BEEBRX: #St. 2.4 THHY (6. 7#hgE)
% 7 R - AR R BAf = B i £ W = B =
XBE S4 kR 2L
A 1.00 3,270. 00 3,270/2.00H / 8H
FEM FRP D 70PS%¢ 3.0t
A 1.00 96, 147. 00 96, 147 8H
B S HER
A 1.00 42, 200. 00 42, 200
BB
A 1.00 32, 400. 00 32, 400
MEBF
A 2.00 31, 100. 00 62, 200
P TR 2RD%
% 1.00 236, 217. 00 2,362
& fE%8Eh : 6. 704 = 35, 608. 00 238,579
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H5:35
& RE (2) BEHBRX: #5S5t.2,4,8 1AHY (6. 7T#hm)
£ 7 R - KT By B = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,270.00 3,270 2.00H / 8H
&M FRP D 70PS%! 3.0t
H 1.00 96, 147.00 96, 147 8H
B S HER
A 1.00 42, 200. 00 42, 200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31, 100. 00 62, 200
AR L NOY
% 1.00 236, 217.00 2,362
& it {EZBESN : 6. 70t = 35, 608. 00 238,579
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Rifiz -/ \v7r—o

WREEHKEEERE

H5 :36
2 AR (EEAE) XLy
%4 7 R - BIRTE BARL 2 B i | # %

AL BHEHRA

B®IK 5.00 4, 250.00 21,250
EARHE BHEHRA

B®IK 1.00 9, 250. 00 9, 250
AR R SHEHEB

B®IK 4.00 8, 700. 00 34, 800
BE EHEHR

B®IK 4.00 2,250.00 9, 000
LB R E R = (COD) EHEHR

B®IK 4.00 3, 650. 00 14, 600
R = (IL) EHEHR

B®IK 4.00 2,750.00 11, 000
Bt (1-S) EHEHR

B®IK 4.00 3, 800. 00 15, 200
22X T-N) R

B®IK 4.00 3, 600. 00 14, 400
&) > (T-P) B

B®IK 4.00 3,050. 00 12, 200
7 UE=7HZEZHR (N\HA-N) R

B®IK 4.00 3,100. 00 12, 400
HEAEERTEZ= 5 (NO2-N) R

B®IK 4.00 3, 000. 00 12, 000
THEE = 3R (NO3-N) R

B®IK 4.00 3,000. 00 12, 000
1) UERME ) > (PO4-P) R

B®IK 4.00 3,100. 00 12, 400
FILFILKERIEE Y R

B®IK 1.00 9,100. 00 9,100
KEEBITZFDILEY R

B®IK 1.00 4, 050. 00 4, 050
HWEIHLRIFZFDILEY B ER

B®IK 1.00 3,100. 00 3, 100
MXIFFDILEY R

B®IK 1.00 3,100. 00 3, 100
) tED R

B®IK 1.00 9, 550. 00 9, 550
NEo OLiEEY R

B®IK 1.00 3, 050. 00 3, 050
MEXTZDILED R

B®IK 1.00 4,000. 00 4, 000
LT LAY R

B®IK 1.00 3, 500. 00 3, 500
PCB R

B®IK 1.00 19, 700. 00 19, 700
ANITFDILEY R

B®IK 1.00 3,100. 00 3,100
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KT -FEIT/ SNV —2 WEEEBKEREERE
£ 7 R - BIRTE BARL 2 i | W E B &

BT ZDILED R

B®IK 1.00 3,100. 00 3,100
it R

B®IK 1.00 3, 650. 00 3, 650
HaPES R

B®IK 1.00 3,350. 00 3,350
ckysooTFLY R

B®IK 1.00 5,000. 00 5,000
FrSHYOOTFLY R

B®IK 1.00 5,000. 00 5,000
RYYHLRIFTFDILEY R

B®IK 1.00 3, 800. 00 3, 800
JOLXIEFDIEED R

B®IK 1.00 3, 050. 00 3, 050
—yTILRIEIFDIEED R

B®IK 1.00 3,100. 00 3, 100
NFOOLRIEFDILED B

B®IK 1.00 3, 550. 00 3, 550
soonisy R

B®IK 1.00 5,000. 00 5,000
migibmE R

B®IK 1.00 5,000. 00 5,000
1-2->4oOoxT4y B ER

B®IK 1.00 5,000. 00 5,000
1-1->spAaTFLy B ER

B®IK 1.00 5,000. 00 5,000
SR-1-2-oH/BpOIFLY B ER

B®IK 1.00 5,000. 00 5,000
1-1-1-k)HopoxTia> B ER

B®IK 1.00 5,000. 00 5,000
1-1-2-k)HopxTia> B ER

B®IK 1.00 5,000. 00 5,000
1-3-H/poo7ary AR

B®IK 1.00 5,000. 00 5,000
FIT L R

B®IK 1.00 15, 300. 00 15, 300
DESY R

B®IK 1.00 14, 200. 00 14, 200
FARALT R

B®IK 1.00 14, 200. 00 14, 200
vty R

B®IK 1.00 5,000. 00 5,000
LY (RFZFDEEED R

B®IK 1.00 4, 250.00 4, 250
BALFXT U5 R

B®IK 1.00 114, 000. 00 114, 000
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e - o L/ S ’r —2 WAEEEKEEEAE

% i R - KR B o 2 B f * % W= " %

gy AR

3L 1.00 6, 300. 00 6, 300
14-CFFH o AR

3L 1.00 14, 000. 00 14, 000
KEBEXRIETZDIEEY EHEHR

3L 1.00 4, 850. 00 4,850
PCB EHEHR

3L 1.00 22, 500. 00 22,500
HHRIERILLEY EHEHR

3L 1.00 13, 500. 00 13, 500
CR EHERR

3L 1.00 117, 500. 00 117, 500
a i 1E%X8ED - 1. 00K 671, 950. 00 671,950
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il T/ S — WAESSKEERAS
&H5 : 37
2% |ESER (EERAD) 15ty
2 Lo R - KT By = B ff | W E H %
FEHED (55
A 1.30 58, 600. 00 76, 180
A (B)
A 1.20 41, 600. 00 49, 920
Hifrg
A 2.50 29, 000. 00 72, 500
EXRARE FEEDY
% 1.00 198, 600. 00 1,986
& it EZBER - 1. 00 200, 586. 00 200, 586
&5 :38
& TS50 FUREBERFHER AEEBRX #5524 THEY (4 4#hm)
2 Lo R - KT By = B ff o W E w %
REE 54 kY 2
=] 1.00 3,270.00 3,270 2.00H / 8H
FRE M FRP D 70PSZ! 3.0t
=] 1.00 96, 147.00 96, 147 8H
B S HER
A 1.00 42, 200. 00 42,200
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 2.00 31,100. 00 62, 200
Mo 2RD%
% 2.00 236, 217.00 4,724
& B EZERERN : 4. 40th = 54, 759. 00 240, 941
H5:39
2 AR (TS50 FURRE) 1LY
2 Lo R - KT By = B ff o W E w %
S HTERER LELY oA B2l
®ix 8.00 21, 000. 00 168, 000
S HTEAER BT o bY
®ix 4.00 21, 000. 00 84, 000
& it 1EZBER - 1.00 252, 000. 00 252,000
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KT -FEIT/ SNV —2 WEEEBKEREERE
5 : 40
BF BT - BE (TS5 FURE) 1LY
£ 7 R - KT By = B Of | W E B &
BT - ER(TS529 FUBRE) EEAGE
= 1.00 269, 000. 00 269, 000
BT - ER(TS529 FUBRE) EERE
= 1.00 2, 650. 00 2,650
& it 1EZBER - 1.00 271, 650. 00 271, 650
&HS: M
2 . BATHE ZEP,
£ 7 R - KT By = B Of | W E B =
FEHED (55
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200. 00 51, 200
& it {EZ8ER - 1.00mE 109, 800. 00 109, 800
HE5 .42
AF : hERE 1EHY
£ 7 R - KT By = B Of | W E B =
F{EHED (55
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200. 00 51, 200
& it {EZ8ER - 1.00mE 109, 800. 00 109, 800
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il T/ S — WAESSKEERAS
H5 43
2 . ZB|E IEED)
2 Lo R - KT By = B ff | W E H %
HAh&
A 1.00 66, 900. 00 66, 900
F{EHED (55
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
& it {EZ8ER - 1.00mE 176, 700. 00 176, 700
BHE 44
B EBHRSR 1Ky
2 Lo R - KT By = B ff | W E H %
(BHRERE
= 1.00 160, 000. 00 160, 000
& it EZBER - 1.00= 160, 000. 00 160, 000
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